



Title	Free and non-free multiplicity on the arrangement of type A_{3-1}
Author(s)	Abe, Takuro
Citation	Hokkaido University Preprint Series in Mathematics, 826, 1-11
Issue Date	2007-02-05
DOI	10.14943/83976
Doc URL	http://hdl.handle.net/2115/69635
Type	bulletin (article)
File Information	pre826.pdf



[Instructions for use](#)

Free and non-free multiplicity on the arrangement of type $A_3 - 1$

Takuro Abe ^{*†‡}

February 5, 2007

Abstract

We give the first complete classification of free and non-free multiplicities on an arrangement, called the arrangement of type $A_3 - 1$, which admits both of them.

0 Introduction

Let V be an ℓ -dimensional vector space over a field \mathbb{K} , $\{x_1, \dots, x_\ell\}$ be a basis for the dual vector space V^* and $S := \text{Sym}(V^*) \simeq \mathbb{K}[x_1, \dots, x_\ell]$. $\text{Der}_{\mathbb{K}}(S)$ denotes the S -module of \mathbb{K} -linear derivations of S , i.e., $\text{Der}_{\mathbb{K}}(S) = \bigoplus_{i=1}^{\ell} S \cdot \partial_{x_i}$. We say a non-zero element $\theta = \sum_{i=1}^{\ell} f_i \partial_{x_i} \in \text{Der}_{\mathbb{K}}(S)$ is *homogeneous of degree p* if f_i is zero or homogeneous of degree p for each i .

A *hyperplane arrangement* \mathcal{A} (or simply an *arrangement*) is a finite collection of affine hyperplanes in V . If each hyperplane in \mathcal{A} contains the origin, we say that \mathcal{A} is *central*. In this article we assume that all arrangements are central. A *multiplicity* m on an arrangement \mathcal{A} is a map $m : \mathcal{A} \rightarrow \mathbb{Z}_{>0}$ and a pair (\mathcal{A}, m) is called a *multiarrangement*. $|m|$ denotes the sum of the multiplicity $\sum_{H \in \mathcal{A}} m(H)$. When $m \equiv 1$, (\mathcal{A}, m) is the same as a hyperplane arrangement \mathcal{A} and sometimes called a *simple arrangement*. For each hyperplane $H \in \mathcal{A}$ fix a linear form $\alpha_H \in \mathcal{A}$ such that $\ker(\alpha_H) = H$. Put

*Department of Mathematics, Hokkaido University, Kita-10, Nishi-8, Kita-Ku, Sapporo, Hokkaido 060-0810, Japan.

†email:abetaku@math.sci.hokudai.ac.jp

‡Supported by 21st Century COE Program “Mathematics of Nonlinear Structures via Singularities” Hokkaido University.

$Q(\mathcal{A}, m) := \prod_{H \in \mathcal{A}} \alpha_H^{m(H)}$. The main object in this article is a *logarithmic derivation module* $D(\mathcal{A}, m)$ of (\mathcal{A}, m) defined by

$$D(\mathcal{A}, m) := \{\theta \in \text{Der}_{\mathbb{K}}(S) \mid \theta(\alpha_H) \in S \cdot \alpha_H^{m(H)} \text{ (for all } H \in \mathcal{A})\}.$$

A multiarrangement (\mathcal{A}, m) is called *free* if $D(\mathcal{A}, m)$ is a free S -module of rank ℓ . If (\mathcal{A}, m) is free, then there exists a homogeneous free basis $\{\theta_1, \dots, \theta_\ell\}$ for $D(\mathcal{A}, m)$. Then we define the *exponents* of a free multiarrangement (\mathcal{A}, m) by $\text{exp}(\mathcal{A}, m) := (\deg(\theta_1), \dots, \deg(\theta_\ell))$. The exponents are independent of a choice of a basis.

Originally, a multiarrangement was defined by Ziegler in [Z] and used effectively in the studies of hyperplane arrangements, e.g., in [Y1] and [Y2]. However, very few have been known about the freeness and non-freeness of multiarrangements. Recently, some theorems to consider the freeness of multiarrangements are developed in [ATW1] and [ATW2]. In these papers, a concept of free multiplicity is introduced. For a simple arrangement \mathcal{A} , we say a multiplicity m on \mathcal{A} is *free* if the multiarrangement (\mathcal{A}, m) is free. For example, every multiplicity is free on Boolean arrangements and no multiplicity is free on a generic arrangement which consists of four planes in a three-dimensional vector space (see [ATW2]). However, on an arrangement which admits both free and non-free multiplicity, only a partial classification of multiplicities are known. For example, Coxeter arrangements of type A_3 admits both free and non-free multiplicity, but such a classification is not known. Hence to consider the behavior, geometry and combinatorics of free and non-free multiplicities in $\mathbb{Z}_{>0}^{|\mathcal{A}|}$ is a new problem in the study of arrangements. In this article, we give the first complete classification of the freeness of all multiplicities on such an arrangement. Let us fix $\ell = 3$ and a basis $\{x, y, z\}$ for V^* .

Definition 0.1

An arrangement \mathcal{A} is called the arrangement of type $A_3 - 1$ if it is defined by

$$Q(\mathcal{A}) = xy(x - y)(x - z)(y - z).$$

This is a free arrangement with $\text{exp}(\mathcal{A}) = (1, 2, 2)$, but Ziegler proved that the constant multiplicity $m \equiv 2$ is not a free multiplicity. So the arrangement of type $A_3 - 1$ admits both free and non-free multiplicity. Since this arrangement is close to the Coxeter arrangement of type A_3 and consists of only five planes, it is natural to consider the classification of multiplicities from the viewpoint of freeness. Our classification is as follows:

Theorem 0.2

Let \mathcal{A} be the arrangement of type A_3-1 and $m = [a, b, c, d, e]$ be a multiplicity on \mathcal{A} defined by

$$Q(\mathcal{A}, m) = (y - z)^a y^b (x - y)^c x^d (x - z)^e.$$

Then m is a free multiplicity if and only if $c \geq a + e - 1$ or $c \geq b + d - 1$.

Remark 0.3

Theorem 0.2 implies, if we identify all the multiplicities on the arrangement of type A_3-1 with $\mathbb{Z}_{>0}^5 = \{(a, b, c, d, e)\}$ (i.e., the moduli space of multiplicities on \mathcal{A}), then the set of free multiplicities consists of three chambers of the complement of the arrangement in $\mathbb{Z}_{>0}^5$ defined by

$$(c - a - e + \frac{1}{2})(c - b - d + \frac{1}{2}) = 0.$$

Also note that a choice of such an arrangement is not unique.

The organization of this article is as follows. In Section 1 we introduce some results and notation which will be used in this article. In Section 2 we prove Theorem 0.2.

1 Preliminaries

In this section we fix some notation and introduce some results. To prove Theorem 0.2, we use the following two results:

Theorem 1.1 ([ATW1], Corollary 4.6)

If a multiarrangement (\mathcal{A}, m) is free, then $GMP(k) = LMP(k)$ ($1 \leq k \leq \ell$), where $GMP(k)$ is the k -th global mixed product of (\mathcal{A}, m) and $LMP(k)$ is the k -th local mixed product of (\mathcal{A}, m) .

Theorem 1.2 ([ATW2], Theorem 5.10)

Let (\mathcal{A}, m) be a multiarrangement such that \mathcal{A} is supersolvable with a filtration $\mathcal{A} = \mathcal{A}_r \supset \mathcal{A}_{r-1} \supset \cdots \supset \mathcal{A}_2 \supset \mathcal{A}_1$ and $r \geq 2$. Let m_i denote the multiplicity $m|_{\mathcal{A}_i}$ and $\exp(\mathcal{A}_2, m_2) = (d_1, d_2, 0, \dots, 0)$. Assume that for each $H' \in \mathcal{A}_d \setminus \mathcal{A}_{d-1}$, $H'' \in \mathcal{A}_{d-1}$ ($d = 3, \dots, r$) and $X := H' \cap H''$, it holds that

$$\mathcal{A}_X = \{H', H''\}$$

or that

$$m(H'') \geq \sum_{X \subset H \in (\mathcal{A}_d \setminus \mathcal{A}_{d-1})} m(H) - 1.$$

Then (\mathcal{A}, m) is free with

$$\exp(\mathcal{A}, m) = (d_1, d_2, |m_3| - |m_2|, \dots, |m_r| - |m_{r-1}|, 0, \dots, 0).$$

For details and notation of these theorems, see [ATW1] and [ATW2]. Note that the arrangement of type $A_3 - 1$ is supersolvable. Theorem 1.1 is used to show the non-freeness of a multiarrangement. To apply it, we need some elementary results on number theory. From now on, let us assume $\ell = 3$ and fix a coordinate system $\{x, y, z\}$ for V^* . For the rest of this article we only consider the 2nd mixed products. Hence $LMP(\mathcal{A}, m)$ denotes the 2nd local mixed product of (\mathcal{A}, m) , and $GMP(\mathcal{A}, m)$ the 2nd global mixed product of (\mathcal{A}, m) if it is free. In other words,

$$LMP(\mathcal{A}, m) = \sum_{X \in L(\mathcal{A})_2} d_1^X d_2^X,$$

where $L(\mathcal{A})_2$ consists of elements in the intersection lattice $L(\mathcal{A})$ of \mathcal{A} (e.g., see [OT]) such that $\text{codim}_V(X) = 2$ and $\exp(\mathcal{A}_X, m|_{\mathcal{A}_X}) = (d_1^X, d_2^X, 0, \dots, 0)$ for $X \in L(\mathcal{A})_2$. Moreover, if (\mathcal{A}, m) is free with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)$, then

$$GMP(\mathcal{A}, m) = d_1 d_2 + d_2 d_3 + d_3 d_1.$$

Sometimes for the triple of integers (d_1, d_2, d_3) , $GMP(d_1, d_2, d_3)$ denotes $d_1 d_2 + d_2 d_3 + d_3 d_1$. Let us agree that $(d_1, d_2, d_3)_\leq$ denotes the integers d_1, d_2, d_3 with $d_1 \leq d_2 \leq d_3$.

Lemma 1.3

Let us put $m_0 := \max\{m(H) | H \in \mathcal{A}\}$ for a free multiarrangement (\mathcal{A}, m) with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)_\leq$. Then $d_3 \geq m_0$.

Proof. We may assume that $m_0 = m(\{x = 0\})$. If $d_3 < m_0$, then all elements in $D(\mathcal{A}, m)$ can be expressed as $f_y \partial_y + f_z \partial_z$ for $f_y, f_z \in S$, which contradicts to the freeness of (\mathcal{A}, m) . \square

For a rational number $\alpha \in \mathbb{Q}$, let $\lceil \alpha \rceil$ denote the smallest integer which is larger than or equal to α , and $\lfloor \alpha \rfloor$ the largest integer which is smaller than or equal to α .

Lemma 1.4

Let (\mathcal{A}, m) be a free multiarrangement with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)_\leq$ and (\mathcal{B}, m') be a free submultiarrangement of (\mathcal{A}, m) with $\exp(\mathcal{B}, m') = (e_1, e_2, e_3)_\leq$. Put $n := |m| - |m'|$ and assume that

$$e_3 \geq \left\lceil \frac{|m|}{3} \right\rceil, \quad e_2 \geq \left\lfloor \frac{|m| - e_3}{2} \right\rfloor.$$

Then $GMP(d_1, d_2, d_3) \leq GMP(e_1 + n, e_2, e_3)$.

Proof. Since $D(\mathcal{A}, m) \subset D(\mathcal{B}, m')$, there exist non-negative integers α, β such that

$$d_3 = e_3 + \alpha, \quad d_2 = e_2 + \beta, \quad d_1 = e_1 + n - \alpha - \beta.$$

Hence

$$\begin{aligned} GMP(e_1 + n, e_2, e_3) - GMP(d_1, d_2, d_3) &= (e_1 + n)e_2 + (e_1 + n)e_3 + e_2e_3 \\ &\quad - \{(e_1 + n - \alpha - \beta)(e_2 + \beta) \\ &\quad + (e_1 + n - \alpha - \beta)(e_3 + \alpha) + (e_2 + \beta)(e_3 + \alpha)\} \\ &= \alpha^2 + \alpha(e_3 - e_1 - n) + \beta(e_2 + \alpha + \beta - e_1 - n). \end{aligned}$$

By the assumption, $e_3 - e_1 - n \geq 0$. If $e_2 - e_1 - n + \alpha + \beta < 0$, then the assumption implies that $e_2 + 1 = e_1 + n$ and $\alpha = \beta = 0$. In this case $(d_1, d_2, d_3) = (e_1 + n, e_2, e_3)$. \square

Lemma 1.5

Let (\mathcal{A}, m) be a free multiarrangement with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)_{\leq}$. If

$$\max\{m(H) \mid H \in \mathcal{A}\} = a \geq \left\lceil \frac{|m|}{3} \right\rceil, \text{ then}$$

$$GMP(d_1, d_2, d_3) \leq GMP\left(a, \left\lceil \frac{|m| - a}{2} \right\rceil, \left\lfloor \frac{|m| - a}{2} \right\rfloor\right).$$

Proof. Lemma 1.3 implies that

$$d_3 = a + \alpha, \quad d_2 = \frac{|m| - a - \alpha}{2} + \beta, \quad d_1 = \frac{|m| - a - \alpha}{2} - \beta \quad (\alpha \in \mathbb{Z}, \beta \in \frac{1}{2}\mathbb{Z}).$$

Hence

$$GMP\left(a, \left\lceil \frac{|m| - a}{2} \right\rceil, \left\lfloor \frac{|m| - a}{2} \right\rfloor\right) - GMP(d_1, d_2, d_3) = o\left(-\frac{1}{4}\right) + \frac{3}{4}\alpha^2 + \beta^2 + \alpha\left(\frac{3}{2}a - \frac{1}{2}|m|\right),$$

where

$$o\left(-\frac{1}{4}\right) = \begin{cases} 0 & \text{if } |m| - a \text{ is even,} \\ -\frac{1}{4} & \text{if } |m| - a \text{ is odd.} \end{cases}$$

By the assumption, $\frac{3}{2}a - \frac{1}{2}|m| \geq 0$. If $\alpha > 0$ or $\beta > 0$, then $GMP\left(a, \left\lceil \frac{|m| - a}{2} \right\rceil, \left\lfloor \frac{|m| - a}{2} \right\rfloor\right) - GMP(d_1, d_2, d_3) \geq 0$. If $\alpha = \beta = 0$, then there is nothing to prove. \square

2 Proof of Theorem 0.2

In this section we prove Theorem 0.2. From now on, let \mathcal{A} be the arrangement of type $A_3 - 1$ and $m = [a, b, c, d, e]$ a multiplicity on \mathcal{A} as in the statement of Theorem 0.2. Moreover, let us introduce some notation. Let $\exp[a, c, e]$ (resp : $\exp[b, c, d]$) denote the exponents of a 2-multiarrangement defined by $(y - z)^a(x - y)^c(x - z)^e$ (resp : $y^b(x - y)^c x^d$). If we put $\exp[a, c, e] = (d_1, d_2)$ and $\exp[b, c, d] = (e_1, e_2)$, then $[a, c, e]$ denotes $d_1 \times d_2$ and $[b, c, d]$ denotes $e_1 \times e_2$. We say $[a, c, e]$ or $[b, c, d]$ is *balanced* if each integer of the three is less than the sum of the other two plus one, i.e., $a \leq c + e + 1$ and so on. It is known that $\exp[a, c, e] = (d_1, d_2)$ or $\exp[b, c, d] = (e_1, e_2)$ are determined by the multiplicities. For example, if $[a, c, e]$ is balanced, then $|d_1 - d_2| \leq 1$ and if $\max\{a, c, e\} = a$ and $[a, c, e]$ is not balanced, then $(d_1, d_2) = (a, c + e)$ (see [Waka]).

Now let us prove Theorem 0.2. First we show the condition in Theorem 0.2 is a sufficient condition.

Proposition 2.1

If $c \geq a + e - 1$ or $c \geq b + d - 1$, then (\mathcal{A}, m) is free.

Proof. Assume $c \geq a + e - 1$. Consider a supersolvable filtration $\mathcal{A}_3 \supset \mathcal{A}_2 \supset \mathcal{A}_1$ of \mathcal{A} defined by

$$\begin{aligned} \mathcal{A}_1 : &= \{x = 0\}, \\ \mathcal{A}_2 : &= \{xy(x - y) = 0\}, \\ \mathcal{A}_3 : &= \{xy(x - y)(x - z)(y - z) = 0\}. \end{aligned}$$

To complete the proof, apply Theorem 1.2. The same argument is valid when $c \geq b + d - 1$. \square

Hence, for the rest of this section, we assume the following condition:

$$(2.1) \quad c \leq a + e - 2 \text{ and } c \leq b + d - 2.$$

Note that, in particular, $c < \left\lfloor \frac{|m|}{3} \right\rfloor$. We show that (\mathcal{A}, m) is not free under the condition (2.1) by using Theorem 1.1 and related non-freeness criterion in [ATW1]. After an appropriate change of coordinates, we may assume that

$$a \geq e, \quad b \geq d, \quad \text{and } a \geq b.$$

Let us define a submultiarrangement (\mathcal{B}, m') of (\mathcal{A}, m) by

$$Q(\mathcal{B}, m') := (y - z)^a y^b (x - y)^c (x - z)^e.$$

Lemma 2.2

Assume that $a \geq \left\lceil \frac{|m|}{3} \right\rceil$ and $b \geq \left\lfloor \frac{|m|}{3} \right\rfloor$. Then (\mathcal{A}, m) is not free.

Proof. Let us assume that (\mathcal{A}, m) is free with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)$. Since $c+d+e \leq \left\lceil \frac{|m|}{3} \right\rceil$, $LMP(\mathcal{A}, m) = (a+b)(c+d+e)+ab+de$. Note that Theorem 1.2 implies (\mathcal{B}, m') is free with $\exp(\mathcal{B}, m') = (a, c+e, b)$. By the assumption, (\mathcal{B}, m') satisfies the condition of Lemma 1.4. Therefore $GMP(d_1, d_2, d_3) \leq GMP(a, b, e+d+e)$. Hence $LMP(\mathcal{A}, m) - GMP(d_1, d_2, d_3) \geq de > 0$, which contradicts to Theorem 1.1. \square

Lemma 2.3

Assume that $a \geq \left\lceil \frac{|m|}{3} \right\rceil$ and $b < \left\lfloor \frac{|m|}{3} \right\rfloor$. Then (\mathcal{A}, m) is not free.

Proof. Assume that (\mathcal{A}, m) is free with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)$. Put $LMP := LMP(\mathcal{A}, m)$ and $GMP := GMP(\mathcal{A}, m)$. Note that $\max\{a, b, c, d, e\} = a$ by the assumption and (2.1).

Case 1. When $b+d \leq \left\lfloor \frac{|m|}{3} \right\rfloor$ and $[a, c, e]$ is balanced. In this case, $\exp(\mathcal{B}, m') = (\exp[a, c, e], b)$. Hence the assumption and Lemma 1.4 imply $GMP(d_1, d_2, d_3) \leq GMP(\exp[a, c, e], b+d)$. So

$$\begin{aligned} LMP - GMP &\geq (a+e)(b+d) + [a, c, e] + [b, c, d] - \{(a+c+e)(b+d) + [a, c, e]\} \\ &= [b, c, d] - c(b+d) > 0 \text{ (by (2.1)),} \end{aligned}$$

which is a contradiction.

Case 2. When $b+d \leq \left\lfloor \frac{|m|}{3} \right\rfloor$, $[a, c, e] = a(c+e)$ and $c+e \geq b+d$. In this case $\exp(\mathcal{B}, m') = (a, c+e, b)$. So Lemma 1.4 implies that $GMP(d_1, d_2, d_3) \leq GMP(a, c+e, b+d)$. Hence

$$\begin{aligned} LMP - GMP &\geq a(b+c+d+e) + [b, c, d] + e(b+d) - \{a(b+c+d+e) + (c+e)(b+d)\} \\ &= [b, c, d] - c(b+d) > 0 \text{ (by (2.1)),} \end{aligned}$$

which is a contradiction.

Hence it suffices to show the non-freeness of the following two cases:

- (1) $b+d \leq \left\lfloor \frac{|m|}{3} \right\rfloor$, $[a, c, e] = a(c+e)$ and $b+d > c+e$.
- (2) $b+d > \left\lfloor \frac{|m|}{3} \right\rfloor$.

Note that the condition $b + d > \left\lfloor \frac{|m|}{3} \right\rfloor$ implies $[a, c, e] = a(c + e)$ and $b + d > c + e$.

Case 3. When $[a, c, e] = a(c + e)$, $b + d > c + e$ and $[b, c, d]$ is balanced. Lemma 1.5 and $\max\{a, b, c, d, e\} = a$ imply $GMP(d_1, d_2, d_3) \leq GMP(a, \left\lfloor \frac{|m| - a}{2} \right\rfloor, \left\lfloor \frac{|m| - a}{2} \right\rfloor)$. Hence

$$\begin{aligned}
LMP - GMP &\geq a(b + c + d + e) + [b, c, d] + e(b + d) \\
&\quad - \left\{ a(b + c + d + e) + \left\lfloor \frac{|m| - a}{2} \right\rfloor \left\lfloor \frac{|m| - a}{2} \right\rfloor \right\} \\
&\geq e(b + d) + \frac{(b + c + d)^2}{4} - \frac{(b + c + d + e)^2}{4} - \frac{1}{4} \\
&= e(b + d) - \frac{e(b + c + d)}{2} - \frac{e^2}{4} - \frac{1}{4} \\
&= \frac{2e(b + d - c - e) + e^2 - 1}{4} > 0,
\end{aligned}$$

which is a contradiction.

Case 4. When $[a, c, e] = a(c + e)$, $b + d > c + e$, $b \geq c + d + 2$ and $b < \frac{|m| - a}{2}$. Note that $b + d \geq \left\lfloor \frac{|m| - a}{2} \right\rfloor$ because of $b + d > c + e$. Hence $b \geq c + d + 2$ implies

$$\begin{aligned}
LMP &= a(b + c + d + e) + e(b + d) + b(c + d) \\
&\geq a(b + c + d + e) + e(b + d) + \left\lfloor \frac{|m| - a}{2} \right\rfloor (b + c + d - \left\lfloor \frac{|m| - a}{2} \right\rfloor).
\end{aligned}$$

Since $GMP \leq GMP(a, \left\lfloor \frac{|m| - a}{2} \right\rfloor, \left\lfloor \frac{|m| - a}{2} \right\rfloor)$, we have

$$\begin{aligned}
LMP - GMP &\geq e(b + d) + \left\lfloor \frac{|m| - a}{2} \right\rfloor (b + c + d - \left\lfloor \frac{|m| - a}{2} \right\rfloor - \left\lfloor \frac{|m| - a}{2} \right\rfloor) \\
&= e(b + d - \left\lfloor \frac{|m| - a}{2} \right\rfloor) + \left\lfloor \frac{|m| - a}{2} \right\rfloor (b + c + d + e - (|m| - a)) \\
&= e(b + d - \left\lfloor \frac{|m| - a}{2} \right\rfloor).
\end{aligned}$$

Since $b + d \geq \left\lfloor \frac{|m| - a}{2} \right\rfloor$, the last equation is positive unless $b + d = \left\lfloor \frac{|m| - a}{2} \right\rfloor$ and $c + e = \left\lfloor \frac{|m| - a}{2} \right\rfloor$. In this case, the same argument as **Case 2** implies $LMP > GMP$.

Case 5. When $[a, c, e] = a(c + e)$, $b + d > c + e$, $b \geq c + d + 2$ and $b \geq \frac{|m| - a}{2}$. Lemma 1.4 implies $GMP \leq GMP(a, b, c + d + e)$. Hence

$$LMP - GMP \geq de > 0,$$

and the proof is completed. \square

By Lemma 2.2 and 2.3, we may assume the following condition:

$$(2.2) \quad a, b, c, d, e < \left\lceil \frac{|m|}{3} \right\rceil.$$

Lemma 2.4

Assume that $b + d \leq \left\lceil \frac{|m|}{3} \right\rceil$ (resp: $a + e \leq \left\lceil \frac{|m|}{3} \right\rceil$). Then (\mathcal{A}, m) is not free.

Proof. Assume that (\mathcal{A}, m) is free with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)$. If $b + d \leq \left\lceil \frac{|m|}{3} \right\rceil$, then $a + c + e \geq \left\lfloor \frac{2}{3}|m| \right\rfloor$. Also, the condition (2.2) implies $[a, c, e]$ is balanced. So $GMP = GMP(d_1, d_2, d_3) \leq GMP(\exp[a, c, e], b + d)$ by Lemma 1.4. Thus

$$\begin{aligned} LMP(\mathcal{A}, m) - GMP(\mathcal{A}, m) &\geq (a + e)(b + d) + [a, c, e] + [b, c, d] \\ &\quad - \{[a, c, e] + (a + c + e)(b + d)\} \\ &= [b, c, d] - c(b + d) > 0 \text{ (by (2.1))}, \end{aligned}$$

which contradicts to Theorem 1.1 \square

Therefore we may assume that

$$(2.3) \quad \left\lceil \frac{|m|}{3} \right\rceil < a + e \text{ (resp : } b + d) < \left\lfloor \frac{2}{3}|m| \right\rfloor - 1.$$

Hence the next lemma completes the proof of Theorem 0.2.

Lemma 2.5

Under the conditions (2.1), (2.2) and (2.3), (\mathcal{A}, m) is not free.

Proof. Assume that (\mathcal{A}, m) is free with $\exp(\mathcal{A}, m) = (d_1, d_2, d_3)$. Note that $LMP := LMP(\mathcal{A}, m) = (a + e)(b + d) + [a, c, e] + [b, c, d]$. Put $GMP := GMP(\mathcal{A}, m)$.

Case 1. When $|m| = 3k$ ($k \in \mathbb{Z}$). By the assumptions, $a < k$, $b < k$, $a + e > k$, $b + d > k$. Hence, if we define a new multiplicity \overline{m} by

$$Q(\mathcal{A}, \overline{m}) = (x - y)^c (y - z)^k y^k x^{b+d-k} (x - z)^{a+e-k},$$

then $LMP \geq LMP(\mathcal{A}, \overline{m}) = 3k^2 + (a + e - k)(b + d - k)$. So $GMP \leq GMP(k, k, k) = 3k^2 < LMP$, which is a contradiction.

Case 2. When $|m| = 3k + 1$ ($k \in \mathbb{Z}$). By the assumptions, $a < k + 1$, $b < k + 1$, $a + e > k + 1$, $b + d > k + 1$. Hence, if we define a new multiplicity \overline{m} by

$$Q(\mathcal{A}, \overline{m}) = (x - y)^c (y - z)^{k+1} y^k x^{b+d-k} (x - z)^{a+e-k-1},$$

then $LMP \geq LMP(\mathcal{A}, \overline{m}) = 3k^2 + 2k + (a + e - k - 1)(b + d - k)$. So $GMP \leq GMP(k + 1, k, k) = 3k^2 + 2k < LMP$, which is a contradiction.

Case 3. When $|m| = 3k + 2$ ($k \in \mathbb{Z}$). By the assumptions, $a < k + 1$, $b < k + 1$, $a + e > k + 1$, $b + d > k + 1$. Hence, if we define a new multiplicity \overline{m} by

$$Q(\mathcal{A}, \overline{m}) = (x - y)^c (y - z)^{k+1} y^{k+1} x^{b+d-k-1} (x - z)^{a+e-k-1},$$

then $LMP \geq LMP(\mathcal{A}, \overline{m}) = 3k^2 + 4k + 1 + (a + e - k - 1)(b + d - k - 1)$. So $GMP \leq GMP(k + 1, k, k) = 3k^2 + 4k + 1 < LMP$, which is a contradiction. \square

References

- [ATW1] T. Abe, H. Terao and M. Wakefield, The characteristic polynomial of a multiarrangement. arxiv math.AC/0611742.
- [ATW2] T. Abe, H. Terao and M. Wakefield, The e -multiplicity and addition-deletion theorems for multiarrangements. arxiv math.CV/0612739.
- [OT] P. Orlik and H. Terao, Arrangements of hyperplanes. Grundlehren der Mathematischen Wissenschaften, **300**. Springer-Verlag, Berlin, 1992.
- [Waka] A. Wakamiko, On the Exponents of 2-Multiarrangements. to appear in Tokyo. J. Math.
- [WY] M. Wakefield and S. Yuzvinsky, Derivations of an effective divisor on the complex projective line. arXiv:math.AG/0507323, to appear in Trans. Amer. Math. Soc.
- [Y1] M. Yoshinaga, Characterization of a free arrangement and conjecture of Edelman and Reiner. Invent. Math. **157** (2004), no.2, 449–454.

- [Y2] M. Yoshinaga, On the freeness of 3-arrangements. Bull. London. Math. Soc. **37** (2005), no. 1, 126–134.
- [Z] G. M. Ziegler, Multiarrangements of hyperplanes and their freeness. in *Singularities* (Iowa City, IA, 1986), 345–359, Contemp. Math., **90**, Amer. Math. Soc., Providence, RI, 1989.